E8EI/N - R A KRB BEKRE

INEAETER R

QEFhH

JIE 2 K4 FE Hix4 Ba
E: 4 | U=V RK Jk#r 7 8.95
2|FH VS 5 |$kAEk~y T 8.55
3| B 5 |MSC 8.50
4|k Rt 6 | U=/ KKKy FT 8.40
5|FBF i 6 | U=/ KKKy FT 8.35

@B FLUFE

JIE 2 K4 FE Gilz B/a
AR e bR S Ak 57 9.70
213 &z 4 |BEEBEY 2 =T KRR 9.50
3|/ & 5 [V U— RKJk#E Yy 57 9.45
a/k - H3E 6 [kR~y bhso7 9.05
5|%)11 FEE 6 |~y o o7 8.90

@ 5 FikiE

JIE 2 K4 FE Gilz Ba
TR HE # 6 |ty NIVAR V177 P 9.30
2|k B 1 YAk =977 BF 9.05
3| A frtHA 2 (e bavak =197 WF 5 8.75
4|HPT £ 2 (e bavak =197 WF 5 8.60
5| = H f&iif 5 |ty NVAK V177 BRF 8.20




@ LT EUVTE

JIE 2 K4 FE H x4 B/a
1|EH e 3 |evhavar =137 HE & 9.35
2| RS A7 T 3 |BEEE Y o = TR 9.20
3| A% HEH 5 |bTeAKE B& 9.15
4/NR HAE 4 BB Y 2 = T IKEREE 9.05
5| 1E % 32 3 | BT eAREL BE 9.00
6| 1L &Y 4 BB Y 2 = T IREREE 8.95
UESOINE=PS 4 RV bIvAK =V177" BOF 8.90
8|kt &V 4 BB Y 2 = T IREREE 8.65
9%l =AAE 6 |Yi'sthiERs 7 8.60
10774k 23 5 |BAEEY = =7 (K= 8.45
11|ZEE B3 5 | U— L FKJK#y 57 8.40
12|"H  BeAr 2 |HIT AR LS 8.30
121/ 2R 5 [MEEE Y 2 = T IR EE 8.30
144 ¥ 5 |$kAEk~y T 8.20
14| 2 B 5 | U—V KK Jk#Hr 57 8.20
16N HFH 3 |BkAEk~ Y o T 8.15
16|/ Bl 6 [V U—IFK Ky Z77 8.15
18 EHEH 3 |HIT AR B 5 8.05
195k & 6 |SiAEKk~y by TT 8.00
20|fA A SEAE 5 |V U—RFK KR 77 7.95

O ZFEHE

JIE {2 K4 FE Gilz e Ba
T#EH: Fn 4 | BT RAEREL LS 9.50
2% fat 4 |SREHK~ Y o T 9.25
3|5FH  HEE 2 |HITRAREL LS 9.20
4IARE BER 5 |HTeAKE H&A 9.15
5|ZHBE G 4 | BT RAEREL LS 9.00
6|1cE OF 4 | BT eAREI LA 8.80
W B XA 4 (Bl KERY 77 8.70
8| by =D 4 |SfEk~ Y N7 T 8.40
Ol Epa Ay 2 RSz 77 8.30
100 F &7 5 |8t~y 7T 8.20
EE Bk 5 iR S )z ks 77 8.15
1204 S 5 |Yi'sthigRr 77 7.95
13|6&H e 5 | A KEL LS 7.90
14|28 i 5 |8t~y N7 T 7.80
15|88 ¥ 3 |Yi'stkiRy 77 7.65

@ ZFPhm

e A EES FiA% BA




HEED e Ss 6 |t/ bIvAR —=V197" B 9.60
2| %R OGH] 6 |tvIIvAk —v177 R 9.45
2| liA Bl 5 |HTeAKE bA 9.45
4|\ 5 |$kaEk~y by T 9.30
5|85 K mHN 6 |MSC 9.10
6|5 VERG 6 |t/ bIvaR —=v197" BF 9.05
1NFENY A 4 BT RAREI LS 8.90
8|dbAT  dd 3 |~y 7T 8.80
9|HEMI  FHE 3 |BTAKEL LA 8.75
10|45 #4E 5 |bTAKE LA 8.70
1{FvE  EFn 5 [lkR~y hrT7 8.55
12|EfE i 5 [MSC 8.50
13[&R D 6 |BAEEY = =7 (K= 8.45
14407 FRfE 3 |ER~y by T 8.35
14|)IIH  HF5 4 | B~SKEs 77 8.35
16|FEH DR 4 BB Y 2 = T IR R 8.30
16| H AR 1 6 [kR~y bhro7 8.30
18|iT5F AL 6 |SkAEHk~y hrTT 8.25
19|FER  HEAR 3 |~y 77 8.20
20|V53% #hE 6 |ty NIVAR V177 P 8.15




